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QUESTION 1

What identifies devices in a Fabric Channel fabric? 

A. FC-A 

B. IQN 

C. WWN 

D. MAC 

Correct Answer: C 

 

QUESTION 2

When designing a SAN fabric topology, which parameters will influence data availability? (Choose two.) 

A. ISL trunking 

B. power supply wattage 

C. number of switches 

D. SFP speed 

E. buffer credits 

Correct Answer: AC 

 

QUESTION 3

A customer\\'s database write performance is creating an application bottleneck. The application must be able to
tolerate at least a single disk failure. Data is currently being stored on HPE MSA storage in a RAID 6 configuration. 

What should be done to meet the customer\\'s requirements? 

A. Migrate the database to a local RAID 6 volume. 

B. Reconfigure the MSA to use midline SATA disks. 

C. Reconfigure the MSA to use RAID 10 for the volume. 

D. Migrate the database to a single local SSD. 

Correct Answer: B 

 

QUESTION 4
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A customer has an HPE D3000 enclosure with a drive that has all LEDs off. 

What could this indicate? 

A. The drive is inactive, but is not safe to remove and data loss will occur. 

B. The drive is not an active component of an array. 

C. The drive is being identified by a host application. 

D. The drive has failed. 

Correct Answer: B 

 

QUESTION 5

What is the difference between RAID 1 and RAID 1+0? 

A. RAID 1+0 is a stripe set spanning mirrored drives and RAID 1 is a mirror 

B. RAID 1+0 requires at least two disks and RAID 1 requires at least four 

C. RAID 1+0 is more storage efficient than RAID 1 as more than 50% of total disk space is available for data storage 

D. RAID 1+0 can sustain the failure of any number of drives in a set while RAID 1 can sustain one drive failure 

Correct Answer: D 
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